
MATHS

BOOKS - SURA MATHS (TAMIL ENGLISH)

COMMON QUARLERLY EXAMINATION-2019

Part I

1.  represents a functions which is

A. linear

B. cubic

C. reciprocal

D. quadratic

f(x) = (x + 1)
3

− (x − 1)
3

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_EOaefthYGCN3


Answer: D

Watch Video Solution

2. If  then ____.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

n(A) = p and n(B) = q n(A × B)

p + q

p − q

p × q

p

q

https://dl.doubtnut.com/l/_EOaefthYGCN3
https://dl.doubtnut.com/l/_ennAlcy4FK7p


3. If (x-6) is the HCF of  then the

value of k is.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 − 2x − 24 and x2 − kx − 6

3

4

5

8

4.  is not equal to

A. 

B. 

y2 +
1

y2

y4 + 1

y2

(y + )
21

y

https://dl.doubtnut.com/l/_QXPRFNNtikPn
https://dl.doubtnut.com/l/_kdfAn2cZWNW2


C. 

D. 

Answer: B

Watch Video Solution

(y − )
2

+ 2
1

y

(y + )
2

− 2
1

y

5. Product of the roots of the quadratic equation  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 + 3x = 0

−3

3

0

1

https://dl.doubtnut.com/l/_kdfAn2cZWNW2
https://dl.doubtnut.com/l/_ufXxI9AlvO1K


6.  (mod 100)

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

74k =_ _

1

2

3

4

7. The next term of the sequences 

A. 

B. 

C. 

, , , , …
3

16

1

8

1

12

1

18

1

24

1

27

2

3

https://dl.doubtnut.com/l/_iL4NiS61JW2V
https://dl.doubtnut.com/l/_SsZzdKA4ftQO


D. 

Answer: B

Watch Video Solution

1

81

8. A sequence is a function defined on the set of___.

A. Real numbers

B. Natural numbers

C. Whole numbers

D. Integers

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_SsZzdKA4ftQO
https://dl.doubtnut.com/l/_F6FBi7Ob9GWa


9. If , if 

then the value of  is ___.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

△ LMN, ∠L = 60∘ , ∠M = 50∘
△ LMN − △ PQR

∠R

40∘

70∘

30∘

110∘

10. If

then the length of AE=

A. 1.4 cm

△ ABC, DE ∣ ∣ BC, AB = 3.6m, AC = 2.4cm and AD = 2.1cm

https://dl.doubtnut.com/l/_ftSc5U60YVmx
https://dl.doubtnut.com/l/_uXnn7llsoXV6


B. 1.8 cm

C. 1.2 cm

D. 1.05 cm

Answer: A

Watch Video Solution

11. The area of triangle formed by the points

 is

A. 0 sq.units

B. 25 sq.units

C. 5 sq.unis

D. None of these

Answer: B

( − 5, 0), (0, − 5) and (5, 0)

https://dl.doubtnut.com/l/_uXnn7llsoXV6
https://dl.doubtnut.com/l/_xoNbiGvVVGPf


Watch Video Solution

12. The inclination of a line whose slope is 1 is

A. `0^(@)

B. 

C. 

D. 

Answer: C

Watch Video Solution

30∘

45∘

60∘

13.  is equal to

A. 

tan θ cos ec2θ − tan θ

sec θ

https://dl.doubtnut.com/l/_xoNbiGvVVGPf
https://dl.doubtnut.com/l/_YHqXV1ChKwAN
https://dl.doubtnut.com/l/_dbBovg9tMgZA


B. 

C. 

D. 

Answer: D

Watch Video Solution

cot2 θ

sin θ

cot θ

14. The range of the data 8,8,8,8,8..8 is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

0

1

8

3

https://dl.doubtnut.com/l/_dbBovg9tMgZA
https://dl.doubtnut.com/l/_7NrNBVUuXXyh


Part Ii

Watch Video Solution

1. If  find

the A and B.

Watch Video Solution

B × A = {( − 2, 3), ( − 2, 4), (0, 3), (0, 4), (3, 3), (3, 4)}

2. A relation 'f' is defined by  where 

 


List the elements of f.

Watch Video Solution

f(x) = x2 − 2

ξn{ − 2, − 1, 0, 3}

3. A relation 'f' is defined by  where 

 


f(x) = x2 − 2

ξn{ − 2, − 1, 0, 3}

https://dl.doubtnut.com/l/_7NrNBVUuXXyh
https://dl.doubtnut.com/l/_unq3CdL606JQ
https://dl.doubtnut.com/l/_2PKvygpZde3N
https://dl.doubtnut.com/l/_1I305dBqY6EA


Is f a function?

Watch Video Solution

4. Find the greatest number that will divide 445 and 572 leaving

remainders 4 and 5 respectively.

Watch Video Solution

5. Which term of an A.P.  is -54?

Watch Video Solution

16, 11, 6, 1, ….

6. Reduce the rational expression  to its lowest form.

Watch Video Solution

x2 − 16

x2 + 8x + 16

https://dl.doubtnut.com/l/_1I305dBqY6EA
https://dl.doubtnut.com/l/_oXcEsLhv2oVB
https://dl.doubtnut.com/l/_u6fnsQLhR7os
https://dl.doubtnut.com/l/_FncqInEd4Uo0
https://dl.doubtnut.com/l/_axDuCPVsYRfM


7. Determine the quadratic equations, whose sum and product of

roots are 

Watch Video Solution

, − 1
−3

2

8. If  is similar to  such that BC=3cm, EF=4cm and

area of . Find the area of 

View Text Solution

△ ABC △ DFE

△ ABC = 54cm2
△ DFE.

9. Prove: 

Watch Video Solution

= sec θ − tan θ
cos θ

1 + sin θ

https://dl.doubtnut.com/l/_axDuCPVsYRfM
https://dl.doubtnut.com/l/_XG2lIW7pXQZh
https://dl.doubtnut.com/l/_TDjUpibA23bu


10. The standard deviation and mean of a data are 6.5 and 12.5

respectively. Find the coefficient of variation.

Watch Video Solution

11. What is the slope of the line whose inclination is ?

Watch Video Solution

30∘

12. The line through the points has slope .

Find the value of a.

Watch Video Solution

( − 2, a) and (9, 3)
−1

2

13. Let  is defined by 

 find the range of f.

A = {1, 2, 3, 4, 5, 6}, B = W and f : A →

f(x) = x2 − 1

https://dl.doubtnut.com/l/_HUdGin2myz8p
https://dl.doubtnut.com/l/_j3i91xgM15GS
https://dl.doubtnut.com/l/_1LjGFXH6PUaI
https://dl.doubtnut.com/l/_V7bY8ozmakU6


Part Iii

Watch Video Solution

14. If a clock strickes once at 1 o'clock, twice at 2o'clock, thrice at 3

o'clock and so on. How many times will it strikes in day?

Watch Video Solution

15. Find the zeros of the quadratic expression .

Watch Video Solution

x2 + 2x − 143

1. Given

,

check  is true?

A = {1, 2, 3}, B = {2, 3, 5}, C = {3, 4} and D = {1, 3, 5}

(A ∩ C) × (B ∩ D) = (A × B) ∩ (C × D)

https://dl.doubtnut.com/l/_V7bY8ozmakU6
https://dl.doubtnut.com/l/_c7dEyo9gETtj
https://dl.doubtnut.com/l/_EMvPPnD8O5xh
https://dl.doubtnut.com/l/_VnfSpnITalQc


Watch Video Solution

2. If  and if fog=gof, then find the

value of k.

Watch Video Solution

f(x) = 3x − 2, g(x) = 2x + k

3. The sum of first n, 2n and 3n terms of an A.P. are 

respectively. Prove that .

Watch Video Solution

S1, S2, S3

S3 = 3(S2 − S1)

4. Find the sum of the following series 

Watch Video Solution

62 + 72 + 82 + … + 212

https://dl.doubtnut.com/l/_VnfSpnITalQc
https://dl.doubtnut.com/l/_9UbNXT4xN3UB
https://dl.doubtnut.com/l/_9MlDxJZoxWrV
https://dl.doubtnut.com/l/_kpIr1lc9dZ9e


5. Find the GCD of the given polynomials 

Watch Video Solution

3x4 + 6x3 − 12x2 − 24x, 4x4 + 14x3 + 8x2 − 8x

6. Find the square root of the expressions 

Watch Video Solution

− 10 + 27 − 10 +
x2

y2

x

y

y

x

y2

x2

7. State and prove angle bisector theorem.

Watch Video Solution

8. If the points  are collinear

and if , find the a and b.

A( − 3, 9), B(a, b) and C(4, − 5)

a + b = 1

https://dl.doubtnut.com/l/_JDUNEBaGZzf6
https://dl.doubtnut.com/l/_orTuFbmh8Ecj
https://dl.doubtnut.com/l/_PRgELhTie6AX
https://dl.doubtnut.com/l/_MtIEHH331LGy


Watch Video Solution

9. Using slope concept show that the points

 form a right angled triangle.

Watch Video Solution

(1, − 4), (2, − 3) and (4, − 7)

10. If , then prove that

Watch Video Solution

sin θ + cos θ = p and sec θ + cos ecθ = q

q(p2 − 1) = 2p

11. The time taken (in minutes) to complete a homework by 8

students in a day are given by 38,40,47,44,46,43,49,53. Find the

coefficient of variation.

Watch Video Solution

https://dl.doubtnut.com/l/_MtIEHH331LGy
https://dl.doubtnut.com/l/_FftU6px5EFBs
https://dl.doubtnut.com/l/_lhDMVwtWLcf8
https://dl.doubtnut.com/l/_vK230vRYqOz0


12. The number of books read by 8 students during a month are

2,5,8,11,14,6,12 and 10. Calculate the standard deviation of the data.

Watch Video Solution

13. Solve the qudratic equation  by completing

the square method.

Watch Video Solution

5x2 − 6x − 2 = 0

14. If the 4th and 7th term of Geometrics Progressions are 54 and

1458 respectively, find the Geometric Progression.

Watch Video Solution

https://dl.doubtnut.com/l/_vK230vRYqOz0
https://dl.doubtnut.com/l/_xd2hQy0e64Gv
https://dl.doubtnut.com/l/_6y7AMeahonvr
https://dl.doubtnut.com/l/_rnEh5Z5K5aIZ


Part Iv

1. Construct a triangle similar to a given triangle PQR with its sides

equal to (7)/(3) of the corresponding sides of the triangle PQR.

Watch Video Solution

2. In , if DE|| BC, AD=x DB=x-2, AE= x+2 and EC=x-1 then find

the length of the sides AB and AC.

Watch Video Solution

ΔABC

3. Draw the graph  and hence use it to solve 

.

Watch Video Solution

y = x2 + 3x − 4

x2 + 3x − 4 = 0

https://dl.doubtnut.com/l/_8Fo68ZxEkmZL
https://dl.doubtnut.com/l/_iycs8ynAxsLu
https://dl.doubtnut.com/l/_lMuFsoxe8kSB
https://dl.doubtnut.com/l/_bHS5CQJK4qhD


4. Solve .

Watch Video Solution

(x + y − 5) = y − z = 2x − 11 = 9 − (x + 2z)
1

3

https://dl.doubtnut.com/l/_bHS5CQJK4qhD

